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Arbeitsblatt: Wahle die richtige Losung (minus Zahlen bis 20)

Minusrechnen

1. 2. 3. 4.

49 - 17 = 82 -5= 80 - 2= 41 - 1=
BOEO @OO® EEEE @@EEE
5. 6. 7. 8.

20 - 11 = 70 - 19 = 18 - 2 = 80 - 7 =
O@WE GHEEE B@EEE @HEEE
9. 10. 11. 12.

44 - 18 = 72 - 10 = 12 -5= 37 - 4=
®EOH @®@E® OO0 @OEE
13. 14. 15. 16.

69 - 16 = 69 -9 = 45 - 2 = 17 - 17 =
BE@G© GHEO@® G@®EOE GOOG
17. 18. 19. 20.

80 - 16 = 76 - 20 = 2-1= 31 - 4=
BEE ®EEE OOE @OE®
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Arbeitsblatt: Wahle die richtige Lésung (minus Zahlen bis 20) | * K
ANTWORTEN

Minusrechnen

1.49-17= 2.82—5= 3.80—2= 4'41-1=
EE)(D)  ENEEE)  ENEENE) G192
5.20-11= 6'70-19= 7.18—2= 8.80—7=
M@E)  ENEEE)  (19@)(2)1)  (B(3)E)E)
9.44- 18 = 10%2- 10 = 11'12-5= 12.37-4=
B)2)04)(17)  @)E)0E(4) (D)) (2)()0e)Es)
13&9- 16 = 14'<s<9-9= 15'45-2= 16i7- 17 =
B)EE(e) GIEE)() @)@ (3)(0)(2)0)
1780 - 16 = 187!6-20= 19'2 - 1= 20.31 4 =
(9)(4)30)(32)  GeE)EYE) (D)) @)1



